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—~Z=(X-p)lo

p(70< X <80)

P[(70 - 73)/10]< Z < (80 -73)/10
- A=(70-73)/10=-0.3
B=(80-73)/10=0.7

- NORMSDIST (-0.3) = 0.382089
NORMSDIST (0.7) = 0.758036
~.C=0.5-0.382089=0.118

D =0.758036 — 0.5 = 0.258036
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P(X ~1.960; <u<X +1960, )=0.95

- X =195228.9677

1.960;; = CONFIDENCE(0.05, F 7, F15) =104241.8

. P(195228.9677 —104241.8 < 11 <195228.9677 +104241.8) = 0.95
P(90987.16 < 1 < 299470.8)=0.95
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(2) 0% EHEEMETE
P(X —1.6450, < u<X +1.6450, )=0.90
-+ X =6380.291
1.6450, = CINFIDENCE(0.1, F5, F13) =1610.512

~. P(6380.291-1610.512 < 12 < 6380.291-1610.512)=0.9
P(4769.779 < 11 <7990.803)=0.9

959611 (= FEEE ]
1960, =CONFIDENCE(0.05, F5, F13) =1919.043
P(4461.248 < 11 < 8299.335)=0.95

9% EHEE T
2.5750; = CONFIDENCE(0.01, F5, F13) = 2522.051
P(3858.241< 1 <8902.342) = 0.99

(3) 0N [EHE/KEESR * 15H 90%HYE .0 (ECAISEE ~ (53EE) TEFTA4E
(B VP EE GDP &% (F 4769.779 5% 7990.803 KR °



